ASSEMBLY INSTRUCTION

PATIO CHAISE LOUNGE

If you have any questions, please feel free to contact us.
Emai | : | owest ean@mi nal i f e. com

WF321204

01-11



22823
If you have any questions, please feel free to contact us. 

Email: lowesteam@aminalife.com

https://manuals.plus/m/bdc077cf5b96ffa252c70ff2cf63f32bb39a5a7ccbe81a51c5c05837029bf223

Note:

1. 50% Tighten before fixing all screws, Allen wrench is recommended instead
of an electric drill.

2. Place the item on a flat ground to adjust and make sure it remains stable.

3. Tighten up all screw with tools gradually.

4. If screw are not aligned with holes during assembly, please loosen all the other
screws to 50% and continue the assembly process.

5. If the item is not stable, please loosen all screws, adjust it on a flat ground and
tighten up all screws again.

6. Note: If one or some screws are fully tighten during assembly, chances are the
others will not be aligned with holes. In addition, all the holes are designed to be
relativey larger to provide more space for the adjustment of the screws.

02-11




CARTON CONTENT:

Hardware

03-11




Hardware List:

BOLT M8 x 65MM

BOLT M6 x 20MM

x32

&
.' N
WASHER M8 WASHER M6 NUTS M8
x4 @ x4 @ x2
s
& =
NUTS M6 PART | SHORT ALLENKEY

WRENCH M8

(@)

WRENCH M6

04-11




STEP 1

X2

Connect The Part From Step 1 & Part | Short (12) With AllenKey (12)




\=
)=
N /

Connect The Front Seat Body (B) & Front Seat Frame (C) With AllenKey (12)

@ x4
x8
@x4
x4

STEP 4

Connect The Front Seat Frame (C) & Shape-u Frame (F) With Allenkey (12), Wrench (14)

06-11




STEP 5

D y—

TIGHTEN ALL BOLTS AND NUTS 100%

07-11




Connect The Rear Seat Body (A) & Rear Chair Legs (D) With Allenkey (12).




Connect The Front Seat Body (B) & Front Chair Legs (D) With Allenkey (12).




Connect The Arm Chair (E) & Rear Seat Body (A), Front Seat Body (B) With Allenkey (12)

10-11




X2

Finish




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

